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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma    Examination  

Subject code: 320010    

Subject Name: Theory of Machine & Strength of Material 
          Date: 10 / 07 /2010           Time:  03:00pm - 05:30pm 
    

Total Marks: 70 

         Instructions: 
1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is Authentic 

PART-A 

Q.1 (a) Define the following terms: 

(1) Machine (2) Mechanism (3) Link (4) Kinematic Pair 
(5) Kinematic Chain (6) Higher Pair (7) Lower Pair 

07 

 (b) In a four bar mechanism PQRS, PQ = 7 cm, QR = 12 cm, RS = 10 cm and 

PS = 18 cm. Angle QPS = 60º. Link PS is fixed, and point Q and R lies on 

same side of link PS. Link PQ rotates at 60 rpm in clockwise direction. 

Find:   (1) Velocity of link RS, 

     (2) Angular velocity of link QR, 

           (3) Velocity of midpoint E of link QR. 

07 

Q.2    
 (a) Define gear train. Classify gear train and explain any one gear train with neat 

sketch. 
07 

 (b) Draw the profile of a cam to give the following motion to the knife edge 

follower. 

(1) Follower moves outward with SHM during 90º of cam rotation. 
(2) Rests for 60º of cam rotation. 
(3) Returns with uniform velocity during 90º of cam rotation. 
(4) Minimum radius of cam is 40 mm. 
(5) Lift of follower is 50 mm. 
(6) Cam rotates in clockwise direction and line of stroke of follower 

passes through the axis of cam shaft. 

07 

  OR  
Q.2    

 (a) State the function of a clutch and list the various types of clutches used in 

practice. 
07 

 (b) Following data refers to a flat belt drive: 

(1) Width of belt = 120 mm 
(2) Thickness of belt = 10 mm 
(3) Allowable stress in the belt = 1.8 M Pa 
(4) Mass of the belt = 1.2 kg 
(5) Belt speed = 7.5 m/s 
(6) Belt tension ratio = 2 
Calculate (a) Centrifugal tension in the belt 

                (b) Maximum power transmitted by belt. 

07 

Q.3 (a) State the function of governor. 03 
 (b) Draw a neat sketch of the following: 

(1) Turning moment diagram of multi cylinder I.C. engine. 
(2) Turning moment diagram of Press machine. 

04 

  OR  
    



 2 

Q.3    
 (a) State the function of flywheel. 03 
 (b) Define the following terms: 

(1) Co-efficient of fluctuation of energy. 
(2) Co-efficient of fluctuation of speed. 
(3) Sensitivity of governor. 
(4) Stability of governor. 

04 

    
                        PART-B        STRENGTH OF MATERIAL    
 

Q.4  A mild steel bar of 16 mm diameter and 2.5 meter length is subjected to axial  

tensile force of 65 KN Find Change in length and Change in diameter of bar.  

           Take E =2 X10
5
 N/mm

2 
and Poisson’s ratio = 0.25 

07 

Q.5 (a) Explain Shear force and bending moment 04 
 (b)  Explain parallel axis theorem                                                                                03 
 (c ) A simply supported beam having span of 6.0 meter is subjected to  UDL of  

45 KN/MT   for a length of 2.5 meter from the left support. It is also subjected 

to point load of 30 KN and 60 KN at a distance of 3.0 mt and 4.0 mt. from left 

support respectively. 

                      Draw shear force and bending moment diagram.                 

07 

  OR  
Q.5 (a) Define Radius of gyration and moment of inertia 04 

 (b) Draw shear stress distribution diagram for                                                                

(I) tee section (II) Angle section (III) I section 
03 

 (c ) Calculate moment of inertia about XX and YY Axis for the equal angle 

section 100mm X100mm X10mm  
07 

Q.6 (a) Discuss various types of spring with neat sketches   05 
 (b) Define angle of twist and polar moment of inertia   02 
 (c ) Calculate maximum intensity of shear stress induced and angle of twist in 

degree for length of 7 mt for solid shaft of 70 mm diameter transmitting  80 

KW at 50 RPM take C = 8.2 X 10
4  
N/mm

2 
                   

07 

  OR  
Q.6 (a) A cantilever beam of 230 mm X 300 mm size is 2.1 mt long and it is subjected 

to UDL of 20 KN/MT on entire span and a point load of 15 KN is also acting 

at free end of beam calculate slope and deflection beam. Take E =2 X10
5
 

N/mm
2  

          
 

07 

 (b) 
 
 A rectangular beam having 230 mm X 400 mm size is subjected to UDL of  

110 KN/Mt. on entire span. If allowable bending stress is 150 N/mm
2 
Find the  

span of beam. 

07 

 

PART-A 

5|v!5|v!5|v!5|v!      અ નીચેના પદો ની  �યા
યા આપો. 

(૧) મશીન (૨) મીકનીઝમ � (3) લ�ક (૪) કાઈનેમેટ�ક પેર 

(૫) કાઈનેમેટ�ક ચેઈન (૬) હાઈર પેર (૭) લોઅર પેર 

૦૭ 

 બ PQRS એ ફોર બાર મીકનીઝમ છે *મા � PQ – ૭સેમી, QR- ૧૨સેમી, RS – ૧૦સેમી 

અને PS – ૧૮સેમી છે. /ણો ૂ QPS – ૬૦ છે. લ�ક PS ફ�કસડ છે. પો3ટ Q અને R 

લ�ક PS ની એક જ બા5 એ છેુ . લ�ક PQ ૬૦ આર પી એમ ની ગિત પર કલોકવાઈઝ 

;દશામા ંફર છે� . તો નીચેની િવગતો શોધો. 

(૧) લ�ક  RS ની વેલોસીટ�. 

(૨) લ�ક  QR ની >ગ?લર વેલોસીટ�ુ . 

(3) લ�ક  QR ના મ@યAબBC  ુ E ની વેલોસીટ�. 

૦૭ 
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5|vZ5|vZ5|vZ5|vZ    અ Aગયર Dન ની �યા� 
યા આપો. Aગયર Dન E ંવગીકરણ આપી કોઈ પણ એક Aગયર � ુ

Dન FવGછ આHિત દોર� સમIવો� ૃ .   

૦૭ 

 બ નાઈફ એજ ફોલોવર ને નીચે Kજબની ગિત આપવા માટ કમ પોફાઈલ દોરોુ � � .. 

(૧) કમ � ૯૦º ફર છે Nયાર ફોલોવર સાદ� Oસવંાદ�  ગિત થી બહાર તરફ ગિત કર છે� � � . 

(૨) પછ� કમની  � ૬૦º  ગિત માટ ફોલોવર QFથર રહ છે� � . 

(3) કમ જયાર  � � ૯૦º ફર છે Nયાર ફોલોવર એક ધાર� ગિત થી Kળ QFથિત મા ંઆવે � � ૂ

છે. 

(૪) કમની લSTમ િUVયા � ુ 40 િમિમ છે. 

(૫) ફોલોવર વYમા ંવY ુ ુ 50 િમિમ [ચકાય છે. 

(૬) કમ ઘ;ડયાળ ના કાટંા ની ;દશા મા ંફર છે� � .  ફોલોવરની અ] કમશાફટ ની અ]�  

મા ંથી પસાર થાય છે.   
 

૦૭ 

  અથવા  

5|vZ5|vZ5|vZ5|vZ       

 અ કલચ E ુંકાય̂ લખો અને `લચ ના 5દા 5દા aકાર આપી કોઈ એક `લચ FવGછ ુ ુ

આHિત દોર� સમIવોૃ .  

૦૭ 

 બ નીચેની િવગતો એક ફલેટ બેbટ cાઈવ માટ ની છે� . 

(૧) બેbટની પહોળાઈ – ૧૨૦ િમિમ. 

(૨) બેbટની Iડાઈ – ૧૦ િમિમ. 

(૩) બેbટમા ંએલાવેબલ સDસ � – ૧.૮ M Pa 

(૪) બેbટ નો માસ – ૧.૨ ;કeા 

(૫) બેbટ ની Fપીડ – ૭.૫ m/s 

(૬) બેbટ નો ટfશન રિ◌શઓ � � – ૨ 

તો નીચેની િવગતો શાધો  

(a) સેfD�ફ?ગલ ટfશન   ુ �  

(b) બેbટ iારા Dાfસમીટ થતો મહTમ પાવર. 

૦૭ 

5|v#5|v#5|v#5|v#          

 અ ગવન̂ર E ંકાય̂ લખોુ .   03 

 બ નીચેના ની FવGછ આHિત દોરોૃ . 

(૧) મbટ� િસAલfડર આઈ. સી. એjfજન નો ટk�ગ મોમેfટ ડાયાeામ. 

(૨) aેસ મશીન નો ટk�ગ મોમેfટ ડાયાeામ. 

04 

  અથવા  

5|v#5|v#5|v#5|v#       

 અ ફલાય�હ�લ E ુંકાય̂ લખો.   03 

 બ નીચેના પદો ની  �યા
યા આપો. 

(1) એનm નો વધઘટ નો nણાકંુ . 

(૨) Fપીડ નો વધઘટ નો nણાકંુ . 

(3) ગવન̂ર ની સેQfસ;ટિવટ�. 

(૪) ગવન̂ર ની FટAબAલટ�� .  

04 
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PART-A        STRENGTH OF MATERIAL    
 

 

5|`Gv$5|`Gv$5|`Gv$5|`Gv$    V V[S DF.<0 :8L,GF ;/LIFGM jIF; !& DLPDLP VG[ ,\AF. ZP5 DL K[P T[GF 5Z &5 
SLPgI]P G]\ V1FLI TF6 A/ ,FU[ K[P ;/LIFGL ,\AF. VG[ jIF;DF\  YTM O[ZOFZ XMWMP 
E=2x105 N/MM2  VG[ 5M.;G Z[XLIM =0.25. 

07 

5|`Gv55|`Gv55|`Gv55|`Gv5    V XLIZ OM;" VG[ A[g0L\U DMD[g8 ;DHFJMP 04 

 A ;DF\TZ V1FL; 5|D[I ;DHJMP 03 

 S V[S ;Ld5,L ;5M8["0ALD GL ,\AF. & DL8Z K[P VF ALD 5Z 0FAL AFH]GF 8[SFYL Z DLP 
,\AF. 5Z $5 KN/m GM ;DJLTZLT EFZ ,FU[ K[P VF ALD 5Z 0FAL AFH]GF 8[SFYL 
#DL VG[ $DLPGF V\TZ[ S|DFG];FZ #_ KN VG[&_ KN  GM AL\N]EFZ ,FU[ K[PVF 
ALD DF8[ XLIZ OM;" VG[ A[g0L\U DMD[g8 0FIFU|FD NMZMP 

07 

  VYJFVYJFVYJFVYJF     

5|`Gv55|`Gv55|`Gv55|`Gv5    V Z[0LI; VMO UFIZ[XG VG[ DMD[g8 VMO .G"XLIFGL jIFbIF VF5MP 04 

    A GLR[ VF5[, ;[SXG DF8[ ST"G 5|TLAwW JLTZ6 VF,[B NMZMP 
!P 8L ;[SXG  ZP V[gU, ;[SXG   #P VF. ;[XSG  

03 

    S 100MMx100MMx10mm GF V[\U, ;[SXG DF8[ xx VG[ yy V1FL; 5Z H0TF 
W}6" XMWMP 

07 

5|`Gv&5|`Gv&5|`Gv&5|`Gv&    V V,U V,U 5|SFZGL :5L|U VFS'lT ;CLT J6"G SZMP 05 

 A V[\U, VMO 8JL:8 VG[ 5M,Z DMD[g8 VMO .G"XLIFGL jIFbIF VF5MP 02 

 S V[S 3G XFO8 *_DLDL jIF; WZFJ[ K[ TYF 5_ VFZ5LV[D YL (_ SL,MJM8 5FJZ 
8|Fg;DL8 SZ[ K[P HM XFO8GL ,\AF. * DL8Z CMI TM DCtTD ST"G 5|lTA/ VG[ 
DZM0SM6 XMWMP  

07 

  VYJFVYJFVYJFVYJF  

5|`Gv&5|`Gv&5|`Gv&5|`Gv&    V V[S AFC]WZ6 5F80M Z#_ DLDL 2 #__ DLDL ;F.hGM K[P H[GL ,\AF. ZP! DL8Z K[P 
VF 5F80FGL VFBL ,\AF.DF\ Z_ SLgI]qDL GM ;dFlJTZLT EFZ ,FU[ K[P VF ALDGF D]ST 
K[0F 5Z !5 SLgI] GM lAgN]EFZ 56 ,FU[ K[P ALDGF -F/ VG[ lJR,G XMWMP  

07 

 A V[S ,\ARMZ; ALD Z#_2$__ DLDL ;F.hGM K[P VF ALD 5Z VFBL ,\AF.DF\ !!_ 
SLgI]qDL8ZGM ;DlJTZLTEFZ ,FU[ K[P HM DCtTD A[g0L\U :8|[; !5_ gI]8gFqDLDLZ CMI 
TM ALDGL ,\AF. XMWMP 

07 
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